- School Work. 71
A....2=7+7-5% A....2-747~-5§
2B”....24+2~24+4 B'....3+3-3+6

A" 9 - g+9 reject factor 3 B’....1+1~1+2
reject factor 9, A”....1—1+1 A"....1-1+1
B”....2~2+2
reject factor 2 1 ~1+41
The result being identical shows that the G. C. M.is &’ —x + 1. .
7. Four places are situated on a straight road in the order of the letters
A, B, C,D. The distance from A to D is 34 miles. Three times the distance
from A to B is equal to twice the distance from C to D ; and one-fourth of
the distance from A to B added to half the distance from C to D is three
times the distance from B to C. What are the respective distances ?
Let « = the distance from A to B
Then 3fx= ., « CtoD
And ¢ “« BtoC
.t %+ Vi + 3px = 34 miles.
x=12 mﬁes; %:’c=34 miles ; 3/,x =18 miles.
8 If x=2a - 3b, and y=3b - 2a, prove (mx +ny)* + (nx +my)*=o
(mx +ny)® + (nx+my)® is the sum of two cubes, and therefore can be
factored. Oune of these factors is [(mx + ny) + (nx + my)] . and, mx + 2y + 0w+

Yhs =

my =(m +n)(z +y)=o0.

Therefore, since one of the factors is zero, (m + ny)® + (n@ + my)* =o.
9. Given (3a —z)(a ~ b) + 2ex =4d(a + ) to find .
30— ax — 3ab + 62 + zax=4ab+4b:f.
az - 3bx="ab - 3e
718~ 39)
a-3b
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Note.—(#) Give diagrams when-
ever possible.

(b). Experiments are to be clearly
and definitely described, and must be
such as can be easily performed ia an
ordinary.school. T

1. A bullet of mass 50 grams_ is
shot vertically upward with a velogily
.of zo0 metres per second. Taking
the acceleration of gravity, in the

+ over the edge.

centimetre-gram-second system to be
980 and neglecting the resistance of
the air, find
(z) how Iong
reach the highest point ;
(b) its (potential) energy at
the highest point, and also :ts (kinetic}
energy on reaching the ground again;
(¢) its momentum 2 seconds
after leaving_the gun.
Give the unils in each case.

2, (a) Show how a wind-mill, used
for pumping purposes, transforms
energy of one kind into another.

(&) A uniform beam is 4 feet
long and weighs 8 pounds.. It liesion
a horizontal table, 1 foot projecting
How great a weight
can be placed on the outer end. before
the other end, upon which a s-pound
weight is placed, willleave the table?

3+ A rectapgular vessel has:the fol-

it takes to



